S ‘ Quadratic Graphs
= é\REVISE THIS
IS Tt

1 (@) Complete the table of values for y=x2+x+2 [2 marks]

X -3 -2 -1 0 1 2

y 8 (.l— 2 2 l.|. g

1 (b)  Onthe grid, draw the graph of y=x2+x+2 forvalues of x from to -3 to 2

[2 marks]
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2 (a)  Complete the table of values for  y =x2 + 4x

[2 marks]

X -5 -4 -3 -2 -1

y 5 o | Y| -4 | =3

2 (b) On the grid, draw the graph of y=x2+4x  forvalues of x fromto -5 to 0

[2 marks]
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[2 marks]

[2 marks]

3 (a)  Complete the table of values for y=x2+5
X -2 -1 0 1 3
191 6| 5 | s %
3 (b) On the grid, draw the graphof y=x2+5  forvalues of X fromto -2 to 3
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4 (a) Complete the table of values for

y=x>-2x-3

[2 marks]

-1 0

1 2

o | =4| 4 | -2

4 (b) On the grid, draw the graph of

www. 1stclassmaths.com

y=x2-2x-3 forvalues of X fromto -2 to 4

© 2024 1stclassmaths

[2 marks]


http://www.1stclassmaths.com/

oy r@ @1stclassmaths 5

5 (a) Complete the table of values for y=x?—-3x+2 [2 marks]

X -2 -1 0 1 2 3

y 2 | 6 7.1 o O 2

5 (b)  Onthe grid, draw the graphof = y=x2—-3x+2 forvalues of X fromto-2to 3
[2 marks]

Ya
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6 (a) Complete the table of values for y=x2+2Xx-5 [2 marks]

X -4 -3 -2 -1 0 1 2

y Q| 2 -5 6« |—5] = 3

6 (b) Onthe grid, draw the graph of y=x2+2x-5 forvalues of X fromto -4 to 2
[2 marks]
Y 4

N-

6 (c) Use your graph to estimate the roots of the equation x2+2x—-5=0 [2 marks]

Answer —’Aq, and lq‘
('D" _35 (.r \S)

s o\n_\.)
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7 (a)

Complete the table of values for

y=x2-x-1

[2 marks]

0

1

— |

~\

7 (b)

On the grid, draw the graph of

Y 4

y=x2-x-1

for values of X fromto -2 to 3

[2 marks]

7 (c)

Answer O ' b and
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[2 marks]
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8 Here is the graph of y=Xx2-4x+3 forxvalues from-1to5

Ya

2-
1-
T T T T T T > X
1 © 12\/3 4 5 6 7
-1-
-2
8 (a)  Write down therootsof Xx2—4x+3=0 [2 marks]

Answer and &

8 (b) Write down the coordinates of the turning point of the graph y =x?—4x +3

[1 mark]
Answer ( 2- : \ )
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9 Here is the graph of y=Xx2-6x+8 forxvalues from-1to 7

Ya
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9 (a)  Write down the rootsof Xx2—6x+8=0 [2 marks]

Answer 2" and Ll,

9 (b)  Write down the coordinates of the turning point of the graph y =x2—6x + 8

[1 mark]
Answer ( g : —\)
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10
10 Here is the graphof  y=x2+4x+1 forXvalues from-5to 1

Va4

6_

5_

|t

10 (a) Write down estimate for the roots of x2+4x+1=0 [2 marks]

Answer _D$ and —11}'

10 (b) Write down the equation of the line of symmetry of the graph.

Answer IJ - = Z

[1 mark]
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11 Here is a sketch of the curve  y=x2+ 3x-10
YA
5 ol /o > X
-10
P

11 (@)  Write down the roots of x2+3x—-10=0 [1 mark]

Answer — S and /2—’
11 (b)  Write down the y-intercept of the curve. [1 mark]

Answer \O
11 (c)  Write down the x-coordinate of P, the turning point of the curve. [1 mark]

Answer \ S
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12 Here is a sketch of the curve  y=x2—-4x-12
YA
-2 0 5 "
-12
P

12 (@)  Write down the roots of Xx2—4x—-12=0 [1 mark]

Answer 2“ and E
12 (b)  Write down the y-intercept of the curve. [1 mark]

Answer ( L
12 (c)  Write down the equation of the line of symmetry of the curve. [1 mark]

Answer ‘I-' - Z
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13 Here is a sketch of the curve  y=x2+2x-15
YA
> X
-5 o) 3
P

13(a)  Write down the roots of X2 +2x—-15=0 [1 mark]

Answer 5 and 3
13 (b)  Write down the y-intercept of the curve. [1 mark]

Answer \ S
13 (¢)  Work out the coordinates of P, the turning point of the curve. [2 marks]

-9+ d = - 3(-\) +2(-N)-\S
Ls e | -2 -1S

Answer ( -’\ : —\b)
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